BID RESULTS

SOLICITATION NO. W912P8-05-B-0061

ATCHAFALAYA RIVER HORSESHOE AND BAYOU CHENE CUTTERHEAD DREDGE RENTAL NO. 1-2005, ST. MARY AND TERREBONNE PARISHES, LOUISIANA

2-BIDDERS

 WEEKS MARINE, INC.
 \$4,344,001.00
 (L)
 (LOT 4)
 LOWEST BIDDER

 BEAN STUYVESANT
 \$4,864,020.00
 (L)
 (LOT 5)

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOLICITATION NUMBER W912P8-05-B-0061			2. DATE ISS 02 May 200		ATE OPENED 11 August 2006	PAGE 0F	DACES	•			
4. ISSUING OFFICE US ARMY ENGINEER DISTRICT, NOD						-	ITLE OF CERTIFYING OI	8		PAGES	-			
PO BOX 60267 NEW ORLEANS, LA 70160-0267				I CERTIFY that I have opened, read, and recorded on this abstract all			Wary							
LOT THREE, 27 IN ID PUMP DISCHARGE WITHOUT SUBMERGED PUMP			offers received in response to this solicitation.			SIGNATURE			DATE SIGNED 11 August 2006					
5. PROJECT					ENT ESTIMATE					-				
AND MISCE	ATCHAFALAYA RIVER BAY, BAR, HORSESHOE, AND MISCELLANEOUS PROJECTS, CUTTERHEAD DREDGE RENTAL NO. 1-2005, ST. MARY AND			(Check A, B or C and complete D, E, and F) A. HIRED LABOR			A. OFFEROR B. OFFERO			NO. 2 EROR		NO. 3 B. OFFEROR		
TERREBONNE PARISHES, LA (OM-05-061)					DNABLE CONTRACT ut Profit)	B. BID SECU	IRITY (Type and amount)	B. BID SECUR	B. BID SECURITY (Type and amount)			B. BID SECURITY (Type and amount)		
6. NUMBER OF AMENDMENTS ISSUED 0002					DNABLE CONTRACT	C. AMENDMENTS ACKNOWLEDGED			C. AMENDMENTS ACKNOWLEDGED		C. AMENDMENTS ACKNOWLEDGED			
7A. ITEM 7E NO.		7C. EST. QUANTITY	D. UNIT	D.UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMA AMOUN		D. UNIT PRICE	E. ESTIMATED AMOUNT		
0001	MOBILIZATION AND DEMOBILIZATION	1	LS	XXX	912,800.00	XXX		XXX			xxx			
0002	ADDITIONAL MOBILIZATION DUE TO IDLE STANDBY PERIOD	1	EA	19,090	19,090.00									
0003	DREDGING – RENTAL OF ONE FULLY OPERATED	1098	HR	2,427	2,664,846.00									
	CUTTERHEAD DREDGE W/27-INCH ID PUMP	XXX	XXX	xxx	ХХХ	XXX	ХХХ	XXX	×	XXX	xxx	XXX		
	DISCHARGE & ATTENDANT PLANT INCLUDING UP TO	XXX	XXX	xxx	ХХХ	XXX	ХХХ	XXX	×	XXX	xxx	XXX		
	20,000 FEET OF PIPELINE W/A MINIMUM OF 5,500 FEET	XXX	XXX	xxx	ХХХ	XXX	ХХХ	XXX	×	XX	xxx	XXX		
	OF FLOATING PIPELINE	XXX	XXX	xxx	ХХХ	XXX	ХХХ	XXX	×	XX	xxx	XXX		
OPT 0004	DREDGING: SAME PLANT AS LISTED IN ITEM 0003 OF THIS		HR	xxx	1,065,453.00	XXX		XXX			xxx			
	BID LOT	XXX	xxx	xxx	ХХХ	XXX	ХХХ	XXX	×	XXX	xxx	XXX		
0005	DREDGE TOWING SERVICE: AS SPECIFIED HEREIN	70	MI	167	11,690.00									
OPT 0006	PICKET BOAT: AS SPECIFIED HEREIN	250	HR	396	99,000.00									
	TOTAL	XXX	XXX	XXX	4,772,879.00	XXX		XXX			XXX			

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOLICITATION NUMBER W912P8-05-B-0061			2. DATE ISS 02 May 200		DPENED ugust 2006	PAGE 0F	PAGES	•		
4. ISSUING OFFICE US ARMY ENGINEER DISTRICT, NOD						NAME AND T	TLE OF CERTIFYING OFFICI			FAGES	-		
PO BOX 60267 NEW ORLEANS, LA 70160-0267			I CERTIFY that I have opened, read, and recorded on this abstract all			Mary Catherine Kiefer							
LOT FOUR, 30 IN ID PUMP DISCHARGE WITHOUT SUBMERGED PUMP				eceived in r	esponse to this	SIGNATURE			DATE SIGNED 11 August 2006				
5. PROJECT						-	9.			-			
AND MISCE	ATCHAFALAYA RIVER BAY, BAR, HORSESHOE, AND MISCELLANEOUS PROJECTS, CUTTERHEAD DREDGE RENTAL NO. 1-2005, ST. MARY AND			(Check A, B or C and complete D, E, and F) A. HIRED LABOR			A. OFFEROR B. OF WEEKS MARINE			NO. 2 B. OFFEROR		NO. 3 B. OFFEROR	
TERREBONNE PARISHES, LA (OM-05-061)					DNABLE CONTRACT ut Profit)	B. BID SECURITY (Type and amount) 304 GAILLE DRIVE		B. BID SECURITY (Type and amount)		B. BID SECURITY (Type and amount)			
6. NUMBER OF AMENDMENTS ISSUED 0002				C. REASONABLE CONTRACT (Including Profit)		C. AMENDMENTS ACKNOWLEDGED COVINGTON, LA 70433		C. AMENDMENTS ACKNOWLEDGED			C. AMENDMENTS ACKNOWLEDGED		
7A. ITEM 7E NO.		7C. EST. QUANTITY	D. UNIT	D.UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	F. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMA AMOUN		D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	MOBILIZATION AND DEMOBILIZATION	1	LS	XXX		XXX	850,000.00	ххх			xxx		
0002	ADDITIONAL MOBILIZATION DUE TO IDLE STANDBY PERIOD	1	EA			1	1.00						
0003	DREDGING – RENTAL OF ONE FULLY OPERATED	890	HR			2,750	2,447,500.00						
	CUTTERHEAD DREDGE W/30-INCH ID PUMP	XXX	XXX	XXX	ххх	ХХХ	XXX	XXX	х	XX	xxx	XXX	
	DISCHARGE & ATTENDANT PLANT INCLUDING UP TO	XXX	XXX	XXX	ХХХ	ХХХ	XXX	xxx	x	XX	xxx	XXX	
	20,000 FEET OF PIPELINE W/A MINIMUM OF 5,500 FEET	XXX	XXX	XXX	ХХХ	ХХХ	XXX	xxx	х	XX	xxx	XXX	
	OF FLOATING PIPELINE	XXX	XXX	XXX	ххх	ххх	XXX	xxx	x	XX	xxx	XXX	
OPT 0004	DREDGING: SAME PLANT AS LISTED IN ITEM 0003 OF THIS		HR	XXX		ХХХ	979,000.00	xxx			xxx		
	BID LOT	XXX	XXX	XXX	ХХХ	ХХХ	XXX	xxx	X	XX	xxx	XXX	
0005	DREDGE TOWING SERVICE: AS SPECIFIED HEREIN	70	MI			250	17,500.00						
OPT 0006	PICKET BOAT: AS SPECIFIED HEREIN	250	HR			200	50,000.00						
	TOTAL	xxx	XXX	xxx		XXX	4,344,001.00	xxx			XXX		

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOLICITATION NUMBER W912P8-05-B-0061			2. DATE ISS 02 May 20		PENED gust 2006	PAGE OF	GES			
4. ISSUING OFFICE US ARMY ENGINEER DISTRICT, NOD						•	ITLE OF CERTIFYING OFFICIA	5		51.5			
PO BOX 60267 NEW ORLEANS, LA 70160-0267				I CERTIFY that I have opened, read, and recorded on this abstract all			Mary Cath						
LOT FIVE, 30 IN ID PUMP DISCHARGE WITH SUBMERGED PUMP					esponse to this	SIGNATURE			DATE SIGNED 11 August 200	6			
5. PROJECT							9. C	FFERS	NO. 2		NO. 3		
ATCHAFALAYA RIVER BAY, BAR, HORSESHOE, AND MISCELLANEOUS PROJECTS, CUTTERHEAD DREDGE RENTAL NO. 1-2005, ST. MARY AND			(Check A, B or C and complete D, E, and F) A. HIRED LABOR			A. OFFEROR B. OFF			OFFEROR EAN STUYVESANT		B. OFFEROR		
TERREBONNE PARISHES, LA (OM-05-061)					DNABLE CONTRACT ut Profit)	B. BID SECU	JRITY (Type and amount)	B. BID SECURI P.O. BOX	TY (Type and amount) 51118	B. BID SECU	B. BID SECURITY (Type and amount)		
6. NUMBER OF AMENDMENTS ISSUED 0002					DNABLE CONTRACT ing Profit)	C. AMENDM	ENTS ACKNOWLEDGED	C. AMENDMENTS ACKNOWLEDGE NEW ORLEANS, LA 70151		C. AMENDMENTS ACKNOWLEDGED			
7A. ITEM 7E NO.		7C. EST. UANTITY	D. UNIT	D.UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	G. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT		
0001	MOBILIZATION AND DEMOBILIZATION	1	LS	xxx		ХХХ		xxx	950,000.00	XXX			
0002	ADDITIONAL MOBILIZATION DUE TO IDLE STANDBY PERIOD	1	EA					35,000	35,000.00				
0003	DREDGING – RENTAL OF ONE FULLY OPERATED	800	HR					3,400	2,720,000.00				
	CUTTERHEAD DREDGE W/30-INCH ID PUMP	xxx	XXX	xxx	ХХХ	ххх	ХХХ	xxx	XXX	XXX	XXX		
	DISCHARGE & ATTENDANT PLANT INCLUDING UP TO	xxx	XXX	xxx	ХХХ	ХХХ	ххх	xxx	XXX	XXX	XXX		
	20,000 FEET OF PIPELINE W/A MINIMUM OF 5,500 FEET	xxx	XXX	XXX	ХХХ	ХХХ	ххх	xxx	XXX	XXX	XXX		
	OF FLOATING PIPELINE	xxx	ХХХ	xxx	ХХХ	ххх	ХХХ	xxx	XXX	XXX	XXX		
OPT 0004	DREDGING: SAME PLANT AS LISTED IN ITEM 0003 OF THIS	320	HR	xxx		ххх		xxx	1,088,000.00	XXX			
	BID LOT	xxx	ХХХ	xxx	ХХХ	ххх	ХХХ	xxx	XXX	XXX	XXX		
0005	DREDGE TOWING SERVICE: AS SPECIFIED HEREIN	70	MI					186	13,020.00				
OPT 0006	PICKET BOAT: AS SPECIFIED HEREIN	250	HR					232	58,000.00				
	TOTAL	XXX	ххх	XXX		ххх		XXX	4,864,020.00	XXX			